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Example 1

Find the area of the triangle with vertices (0, 0), (—2, 1) and (3, 4).
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Example 2

Find the area of the triangle with vertices (2, 4), (—3, 1) and (3, —5).

Let (2,4) — (0,0)
(—3,1) — (—5, —3)
(3, —5) — (1, —9)

Here we take 2 from each x-value
and 4 from each y-value.
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Exercise 3.10 Area of Triangle with (0,0) = %2 x,y, — x,y, |

1. Find the area of the trlangle whose vertices are X X Y

51 i) 0,0, (5.1, (. 6)
(|||)( % 1,—4 (iv) (0,0), éﬁ) i’z,!.%

(v) (2 —1) (— 24) (0,0) (vi) (0,0), (6,0), (=2,3).
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Exercise 3.10 Area of Triangle with (0,0) = %2 x,y, — x,y, |

2. A(2,3),B(—5,1)and C(3, 1) are the vertices of a triangle.
By using the translation A(2, 3) — (0, 0), find the images of B and C under this
translation. Hence find the area of the triangle ABC.
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Exercise 3.10 Area of Triangle with (0,0) = %2 x,y, — x,y, |
N\
3. By translating one of the vertices to (0, 0), find the area of each of the triangles whose
vertices are
(i) (2,3), (5,1) and (2,0) (i) (—2,3), 4,0 and (1,—4)
(iii) (—2,1), (3,6) and (0, —3) (iv) (5,1), (2,—3) and (7,1).

Exercise 3.10 Area of Triangle with (0,0) = %2|x,y, — X,y |

4. The area of a triangle is half length of base multiplied by perpendicular height.
Use this to write down the area of each of the triangles shown below.
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Exercise 3.10 Area of Triangle with (0,0) = %2|x,y, — X,y |

5. A(0,0),B(4, —1),C(2, 3) and D(—2, 4) are the vertices of a quadrilateral.
Find the area of the quadrilateral by dividing it into the two triangles ABC and ACD.

Exercise 3.10 Area of Triangle with (0,0) = %2|x,y, — X,y |

6. Find the area of the quadrilateral with vertices A(0, 0), B(2, —3), C(4, 0) and D(0, 4).




Exercise 3.10 Area of Triangle with (0,0) = %2|x,y, — X,y |

7. Theline 2x — y — 4 = O intersects the x-axis at A and the y-axis at B.
Find the area of the AOAB, where O is the origin.

Exercise 3.10 Area of Triangle with (0,0) = %2|x,y, — X,y |

8. Find the area of the triangle whose vertices are (0, 0), (1, 3) and (2, 6).
What conclusion can you draw from your answer?




Exercise 3.10 Area of Triangle with (0,0) = %2 x,y, — x,y, |

9. Find the value of k if the area of the given triangle is YA
7 square units.

Exercise 3.10 Answers

(i) % sq. units
(iv) 5 sg. units

d. units (vi) 9 sq. units
. B'(—=7,—2); C'(1, —2); 8 sg. units

N 9 . ..x 33 .
(i) 3 sg. units ) = sq. units
)

(iii) 15 sq. units (iv) 4 sq. units
. 14 sg. units; 14 sqg. units
. 14 sq. units
. 14 sqg. units
. 4 s5g. units
. Not a triangle, i.e. a straight line
. k=1




